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LOG TRANSFER WITH FREQUENCY

MODEL: EWDM-2G6G-65-70MV 94
TESTED BY: JOHNM Test Temp: 25C a3
MODEL: EWDM-2G6G-65-70MV-1 PLANAR MONOLITHICS INDUSTRIES > oo Yoy o
SERIAL NO: PL30091 V Offset: +00.016 4921 Robert J. Mathews Parkway STE 1 @] 2/17/2/
DATE: 1-28-21 TEL: 916-542-1401 FAX: 301-662-1731
EMAIL: SALES@PMI-RF.COM
1ISO 9001:2000 CERTIFIED
Frequency [ 65 [ 60 | -55 | -50 | -45 | -40 | -35 | -30 | -25 | 20 | 45 | 10 | -5 | 0 | [RFIinputPower(dBm) ]
[2000 MHz _[INTERCEPT (mV) | 4733.5] 261 | 631 | 972 | 1279 | 1613 | 2027 [ 2354 [ 2703 | 3073 | 3403 | 3725 | 4026 | 4364 | 4693 Measured Value (mV)
|SLOPE (mVv/dB) | 68.45| -23 5 3 32 | 40 | 32 16 23 51 39 18 | -23 | -27 -40 Error (mV)
-0.34 | 0.07 [ 0.05 [ -0.47| -0.59| 0.46 | 0.24 | 0.34 | 0.74 | 0.56 | 0.27 | -0.34 | -0.40 | -0.59 LINEARITY ERROR (dB)
017 0.54 | 0.49 | -0.05| -0.20 | 0.80 0.55 | 0.62 0.99 0.78 0.45 | -0.18 | -0.28 -0.50 ACCURACY ERROR (dB)
(8600 Wiz [INTERCEPT (mV) | 4718.5] 242 | 602 | 945 | 1258 | 1580 | 2000 | 2332 [ 2675 | 3050 | 3380 | 3699 | 4021 | 4340 | 4691 Measured Value (mV)
[SLOPE (mvidB) [ 68.668] | =13 [ @ |3 |"eo7 |48 | 2800 A7 |z | asnas A es 27|  |Error (mv)
-0.19 | 0.05 | 0.05 [ -0.39[ -0.71| 0.41 | 0.25 | 0.24 | 0.70 | 0.51 | 0.15 | -0.16 | -0.51 | -0.40 LINEARITY ERROR (dB)
-0.10 | 0.12 [ 0.10 [ -0.36 | -0.68 | 0.41 | 0.23 | 0.21 | 0.65 | 0.44 | 0.07 | -0.26 | -0.63 | -0.53 ACCURACY ERROR (dB)
U [INTERCEPT (mV) | 4720.3] 236 1257 | 1577 3353 | 3685 [ 4039 | 4357 Measured Value (mV)
SLOPE (mV/dB) | 68.914| Error (mV)
0.28 | 0 ] LINEARITY ERROR (dB)

| -0.19 [ 0.05 | 0.06 | -0.37 | -0.73 [ 0.28 | 0.00 | -0.25| 0.17 | 0.05 | -0.13 | 0.01 | -0.38 | -0.14 | |ACCURACY ERROR (dB)

[5000 MHz [INTERCEPT (mV) | 4745| 266 | 640 | 982 | 1283 | 1617 | 2027 | 2333 | 2649 | 3017 | 3353 | 3701 [ 4070 | 4401 | 4770 Measured Value (mV)
[SLOPE (mvidB) | 68.838] 5 25 P N T T T ] - T A5 [ 11 13 0 25 Error (mV)
-0.07 | 0.37 | 0.34 | -0.29 | -0.44 | 0.52 | -0.04 [ -0.45[ -0.10 [ -0.22 | -0.17| 0.19 | 0.00 | 0.36 LINEARITY ERROR (dB)
0.25 | 0.67 | 0.64 | 0.01 | -0.15] 0.80 | 0.25 | -0.17 | 0.17 | 0.05 | 0.10 | 0.46 | 0.26 | 0.62 ACCURACY ERROR (dB)
ﬁINTERCEPT(mV) [ 4742.8] 2620 | 2996 | 3329 | 3682 Measured Value (mV)
SLOPE (mV/dB) | 69.639)| Error (mV)

0.23 -0.69 | 0.27 | -0.09 | -0.48

LINEARITY ERROR (dB)

[ -0.25 [ -0.07] -0.03 | -0.50 | -0.96 | 0.06 | -0.25 | -0.59 | -0.13 | -0.30 | -0.18 | 0.53 | 0.32 | 0.56 | |ACCURACY ERROR (dB)
~ [Flamess [ | +-dB] [ 0.25] 0.37] 0.33[ 0.25] 041[ 0.37] 0.40] 0.60] 0.56] 0.54] 0.31] 0.39] 0.47] 057
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